SHSEEHFER
. N o BaLEtItBBALI=-FoUIcE8sgi L-—Xxa—FrhoRZE
BEIEFTU—b 1 1

W mER
- Bt

= &t

" 10K LLF
= 201X

18% 18%
= 304X
401€
= 501K
= 601X
= 704X
= 80K E

BELFE-OEEMORMSNEFKRET BELREOTHOEAKEF

BEB(CDOWTIEFEEBER-LEE

"HE * 1ERRE LA
R 1~ 3EFE] LA
- SBHE = 3~ BRI LN
6~ 9BFRE LI
= O~ 1205 LN

WSRO BM
- ROEA, WER, BEER . RS- 0754, BB

BEFLRYICELRIZES=2E
FBOMAHE

BELFELRYLEVLD, BERFRESEHOSEORIER BEROXHEADEEZ

- ETHLEL R

= 1~50M

= 51~100M
s L7z 101~150F

" ETHRFET:

= RFET
= 151~200M o
= Lf=<tly = 201~300F HFEYRELLN
= 301~400M =
= 401~ FolCREDY
For=KL=<7aly ) gg:mi(’)oﬂ 75\;;“; b
BEFLIFURBORM . KES BIROEVBFFICOLVTOER
-BREENMBRINATONIELRL, =IO EEL,
B AXITEBDOBENHDHELL, LB FALWY, -FHAILTHEELLY,
BETLEXR~ADER
FENGER

[7 27— oD 5347

R ROERICEY (TG MBASh-BRZRHbRO TS,
"FLIROTHALENDLETORFF LU LEEBL TS AU DT BEDICERNDEIRT ZEN
WE,

THBRYNIOVTIHFERNGERA 2L BRHERB/ISOVTHMEHTRITAEERALLL &L
F=[EIE A 36%H2-LDD ., S0ALL T DfiEH THIIEHBRTEDEHAbND,




